NI3BH HEVDOHLIDVE i

MNIBEODDHBIZDLOLE FTEH ZD6

1. ROEEZLEFL X9,

m 14 +9=
2 30 +4=
3 10+-4=
@ 45 + 6=
5 15+ 2=
© 43 + 6=
o 44 = T=
® 37+ 5=
© 9+ 2=

10 22 + 5=
an 62 +9=
a2 34 = 6=
a3 44 = 8=

as 35 4=

HEH

HED

HED

HEH

HED

HEH

HED

HED

HEH

HED

HED

HED

HED

HED

as) 18+ 8=
a6 25+ 7=
an 34 + 8=
asy 13 +2=
19 83 +9=
20 26 + 8=
e 56 =+ 6=
22 68 9=
2 47 +T=
ey 10+7=
25 66 + 9=
06 14+ 5=
en 19+ 8=

28) 29 — 4=

HED

HED

HED

HEH

HED

HED

HED

HED

HEH

HED

HED

HED

HED

HEH

9 9+ 5=

co 16 + 5=
61y 62+ 7=
32 19+ 6=
63 37+ 9=
an 21 6=
3s5) 28 + 3=
36 60+ 7=
an 91+ 8=
e 14+ 3=
co 41 =+ 9=
o) 29 + 3=
an 4+ 3=

w2 42 = 5=

\RZY YN http://www.study-x.com

HEY

HED

HED

HED

HEDY

HEY

HED

HED

HED

HEDY

HEY

HED

HED

HED



[Z272Z]

1.

ml1dHEDH S5
0THED 2
®»2HFED 2
@wTHED 3
$7THED 1
©7THED 1
m6HFED 2
®7THED 2
94dHED 1
w0wddHED 2
an6HED 8
25HFED 4
a»5HFED 4
a8 HED 3

a2 HED 2
w63 dHED 4
andHED 2
a6 HED 1
199HFED 2
)3 HED 2
en9HED 2
THED S
6 HED S
el dHED 3
257 HED 3
2 dHED 4
en2dHED 3
e T HED 1

1 HED 4
3 HED I
an8HED 6
3HED I
HOoHED 3
a3HED 3
59HED 1
68 HED 4
an6HED 3
a4 HED 2
4 HED S
w09 HED 2
a1l HED 1
w8 HEH 2



